[ ] bt \ $EHEH 7 =

X RILAILZ B 15
x ZMBEER (ARAEE) 24
Rl * BEERREFREH (M) 3

SHAEE 11BASETE IEEE
2]
1

\ 14
X BEKRRR (NE) BOFVITHE1E 26
* K-time C¥EF) 34

N

| 3
3| K bddn)=! 24

4|2 BOBTF—INLTF—HERE |
F (HTB) 3%

5|+ THEEE (3) 25

EEET N 15
6|8 B (3) 24
E V4 34

118 @B vIT7THEE 24
* K-time (Ly)yxT—3V) 34

\ =
8| % fREEEEE QRF v THE25 24F
K-time (BARFE) 3

2E R Eousi IV BB 1%
9% \ 2
* K-time 34

10| &< 24

11| £ 24
BERXR(FIAR) Y B E 1 RER kE:3

12| £ THREE () 24
RIS (X)) (FILHR) AR -26% 3%

13| B HiR2R 24

14| A 25
* K-time 34

15| % ﬂi’ﬁlllﬁ‘ 24
* K-time 34

‘ 14
16] &
K-time 3F

*

ZEBMBTIREK MWEIHZIL(~11/30) 15
17| < BB E PR AREBAR17:00~ 21
K-time 34

ol e ‘ IRy R— LR EFT AR [145
* K-time kE:3

NL—FaFE |1F
19| TREEE Q) R —BIEAR l 24

20| 8 PR (3) l 25

BERREREE 15
21| A 26
* K-time 34

\ [E3
22| % FER - HER(OLHR) 26
* K-time 34

\ 1%
bR () =] 25
\ kE:

23| Kk

2FHREE 14
24| K 24

25| & * 24

26| = EHIL(3)

[
Ay

27| B

LHEECRRANEEHIRTE 34

28| A 24F

29| x 25

BANBERE 1 DO RAMBERE T 25ES
30|  |mEEi 2 DR ECAMAERE + 2EES
* 3 DOBEANSERE +2EEL+OODU, 24




